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What is the least common denominator of [image: image1.png]
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What is the sum of [image: image4.png]RS



 and [image: image5.png]o=



?

3
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The reciprocal of the expression [image: image7.png]e
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Which expression is equivalent to [image: image9.png]iR
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What is the sum of [image: image10.png]T
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8
Expressed as a single fraction, [image: image12.png]
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Expressed in simplest form, [image: image13.png]Sx+3 _x-1
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Which expression is equivalent to [image: image14.png]
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Expressed as a single fraction, what is [image: image16.png]
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The expression [image: image17.png]
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Expressed as a single fraction, [image: image18.png]


 is equivalent to

15
Expressed as a single fraction, [image: image19.png]


 is equivalent to
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The expression [image: image20.png]
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What is the sum of [image: image21.png]
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For all values of b for which the expressions are defined, [image: image23.png]
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19
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20
If the probability that an event will occur is [image: image25.png]==



, then the probability that the event will not occur is

21
If the probability that an event will occur is [image: image26.png]


, then the probability that the event will not occur is

22
If the probability that an event will not occur is [image: image27.png]


, then the probability that the event will occur is represented by


1
ANS:
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The LCM of 2 and 7 is 14.  The LCM of x and x is x.  The LCD is 14x.
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